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Chapter 6 Practice Test A


Name: __________________________  Date: _____________

0. Which of the following would be normally distributed and why or why not?

a. The amount that a German Shepherd dogs eat

b. The age a German Shepherd female dog first has babies

c. The number of hours a student does drama at Deering

	1.
	The average gas mileage of a certain model car is 28 miles per gallon.  If the gas mileages are normally distributed with a standard deviation of 1.7, find the probability that a car has a gas mileage of between 27.8 and 28.3 miles per gallon.



	
	A)  0.12    B)  0.15    C)  0.23    D)  0.17


	2.
	If the scores for a test have a mean of 70 and a standard deviation of 12, find the percentage of scores that will fall below 50. 



	
	A)  42.07%     B)  4.75%     C)  35.54%     D)  45.54% 


	3.
	If X is a normal random variable with mean 8 and standard deviation 2.0, then find the value x such that P(Z > x) is equal to .7054, as shown below.  (Note: the diagram is not necessarily to scale.)
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	A)  6.92    B)  9.95    C)  7.46    D)  7.28


	4.
	If X is a normal random variable with standard deviation 2.00, and if the probability that X is less than 4.76 is .648 (as shown below), then what is the mean of X?  (Note: the diagram is not necessarily to scale.)
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	A)  3.5    B)  4.0    C)  3.1    D)  3.7


	5.
	In the figure below, what is the area under the curve between [image: image3.wmf]z
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	A)  0.0764     B)  1.00     C)  0.0606     D)  0.0802 


	6.
	If a baseball player's batting average is 0.340 or 34%, find the probability that the player will have a bad season and only score at most 60 hits in 200 times at bat? 



	
	A)  13.14%     B)  50.34%     C)  12.64%     D)  11.72% 


	7.
	The average height of flowering cherry trees in a nursery is 9.5 feet.  If the heights are normally distributed with a standard deviation of 1.3, find the probability that a tree is less than 11.5 feet tall.



	
	A)  0.94    B)  0.88    C)  0.82    D)  0.97


	9.
	What z value corresponds to 17% of the data between the mean and the z value? 



	
	A)  2.10     B)  1.25     C)  0.44     D)  0.52 


	13.
	The average hourly wage of workers at a fast food restaurant is $6.50/hr with a standard deviation of $0.45.  Assume that the distribution is normally distributed. If a worker at this fast food restaurant is selected at random, what is the probability that the worker earns more than $6.75? 



	
	A)  27.64%     B)  42.07%     C)  5.17%     D)  28.77% 


	19.
	The average length of crocodiles in a swamp is 11.5 feet.  If the lengths are normally distributed with a standard deviation of 1.7, find the probability that a crocodile is more than 11 feet long.



	
	A)  0.60    B)  0.54    C)  0.62    D)  0.56


	20.
	A magazine reported that 6% of American drivers read the newspaper while driving. If 500 drivers are selected at random, find the probability that exactly 40 will admit to reading the newspaper while driving.



	
	A)  1.28%     B)  0.56%     C)  2.04%     D)  1.96% 


21. The probability that a child is a boy is 52%, find the probability that if 200 babies are born at Mercy this week.

a. P(at least 100 will be male)

b. P(more than 110 will be male)

c. P(there will be between 90 and 95 boys)

22. The probability that someone doesn’t show up for a plane is 4%.  If a plane has 300 seats, find:

a. P(at least 15 will not show)

b. P(there will be between 10 and 15 no shows)

23. If the chance of scoring a goal on a free kick is 65%, if you kick 5 free kicks this year, find:

a. P(exactly 2 go in):

b. P(exactly 4 go in):

c. P(all go in):

d. P(at least 1 misses):

Answer Key
0ab are normal.  The most dogs are in the middle and it is symmetric.

c is not – you have many students who spend 0 hours doing drama and a few students spending a lot.  The distribution would look like:
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	1.
	D

	2.
	B

	3.
	A

	4.
	B

	5.
	C

	6.
	A

	7.
	A

	8.
	B

	9.
	C

	10.
	A

	11.
	D

	12.
	B

	13.
	D

	14.
	B

	15.
	D

	16.
	A

	17.
	A

	18.
	D

	19.
	C

	20.
	A
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